
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes.

- Looking at them as little as possible, answer the questions.

The answers of the questions of week 3 should be handed to me at the beginning of Thursday’s lecture of 16th March. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write WEEK 3 in bold at the beginning of your answers.

Attention - Here is the last question from Week 2: 
“26. a) Explain why a decline in prices leads to a transfer of real income from debtors to savers.

b) Why do debtors tend to have a higher propensity to spend than savers?

c) What’s the effect on unemployment of the transfer of real income mentioned in a)? Explain.”
Now, at the end of the lecture I explained how a decline in prices leads to a transfer of real wealth from debtors to savers.

I did not have time to explain how a decline in prices leads to a transfer of real income.
I haven’t checked your answers yet; but since nobody pointed this out to me I imagine that you didn’t present the correct answer.

The correct answer is:

 
Suppose that initially nominal interest payments from agents with accumulated debts to agents with accumulated savings = 20b€ and nominal GDP = 200b€. This means that every year 10% of real GDP (income) is transferred from the former to the latter agents.

However, if prices fall and the CB interest rate was initially positive, the CB may cut it to zero. But that will only affect the interest rate on new loans. The interest rate on almost all previous loans was previously fixed and remains constant. Therefore, aggregate nominal interest payments will fall only slightly.


So, if prices fall say by 50% then nominal GDP declines from 200b to 100b€. If nominal interest payments remain unchanged at 20b€, what does this mean? It means that the proportion of real GDP (income) transferred from agents with accumulated debts to agents with accumulated savings will rise from 10% to 20%.

And, as a matter of historical fact:

 “Between 1929 and 1933, US prices fell by 25%. Yet interest income hardly fell at all, from $4.7b to $4.1b (current $s). Farmers were hit worst by falling prices – agricultural prices fell by 55%  and their dollar incomes fell by 2/3, from $6.2b to $2.6b. The result: many lost their farms through foreclosures as a result of the heavy debt burden (Gordon, Macroeconomics, 1993, p. 170).
YOU SHOULD STUDY THIS FOR THE TEST.



Week 3
I.Money creation and money destruction

1. a)Which are the components of the MB?

b) What is money? Which are its components?

2. Illustrating with a graph, explain the various steps that lead to the creation of money and of MB in modern economies.

3. Explain the specific act that makes money appear in the economy.
4. Does money constitute net wealth? Explain.

5. Explain the specific act that makes money disappear from the economy.

6. Suppose that in a certain day 50b€ of new bank loans are extended, 10b€ of outstanding bank debts are repaid, 15b€ of new bonds are issued and 5€ of previously issued bonds are redeem.  What’s the change in the quantity of money in that day? Explain.

7. Explain the specific act that makes notes and coins appear in the economy.

8. Explain the specific act that makes notes and coins disappear from the economy.

II. The QTM (Fischer) -> Friedman’s MP rule.

9. a) What is the velocity of money?

b) How is it measured?

10.a) What is the relation between Ms and V, on the one hand, and the nominal value of aggregate demand, on the other? Explain with a numerical example.

b) Why must Ms.V be necessarily equal to the nominal value of output sold? Explain with a numerical example.
11. Why does a custom of weekly wage payments lead to a higher velocity of money than a custom of monthly wage payments?

12. Why did Fischer consider the velocity of money to be constant in the short-term?

13. Suppose V is constant. In an economy with a fixed production capacity along time, what are the three different possible effects of a150% increase in the money stock? Explain.
14.  How is the growth rate of nominal aggregate demand related to the behaviour of Ms and of V? Explain.

15.  How is the growth rate of nominal aggregate output related to the behaviour of P and real output? Explain.

16. Suppose V is constant and consider an economy with a production capacity growing at a constant rate of 2%. Start at full-capacity.

a) If Ms afterward rises by 2%, what will happen to P, real output and unemployment according to Friedman? Explain.

b) If the CB’s inflation target is 5%, what should the CB do according to Friedman? Explain.

c) The CB does not control money growth by decree. How does it then control   money growth? Explain.

d)  Consider again question, but suppose that inflation was initially 2% and that it has inertia: it will remain at 2% for some years. Under these circumstances, what’ll be the effect of a 2% increase in Ms on P, real output and unemployment? Explain.

[I didn’t analyse this question in the lecture; but if you do, you’ll understand that, even with a constant V, Friedman’s answer – given in a) – is flawed]

III. Problems with Friedman’s MP rule.

17. Friedman’s rule tends to lead to large variations in interest rates. Why?

18. Consider an economy with a production capacity growing at a constant rate of 2%. Start at full-capacity and with an inflation rate of 2%. Suppose that in the following year the CB holds money growth constant at 4%. What’ll happen to P, real output and unemployment if V drops by 1% and:

a) Any decline in output below capacity – however small - leads to an immediate drop in inflation? Explain.


b) Inflation has absolute inertia?  Explain.
IV. Reasons for the short-term variability in V [if you want to read a text with a short explanation of this topic, have a look the paper I’ve just posted in Aquila: from the end of p. 120 to the middle of p. 122]
19. a) “The holding of idle money is inversely related to the level of interest rates.” Do you agree? Explain.

b) “V is directly related to the level of interest rates.” Do you agree? Explain.

20. “The V associated with current consumption expenditures is low.” Do you agree? Explain.

21. “The V associated with durable consumption and investment expenditures is low.” Do you agree? Explain both when these expenditures are based on credit and when they are based on internal finance.

22. What is the key reason why synchronization between the moment money is attained and the moment expenditures are made takes place in the case of investment goods and durable consumption goods, but not in the case of current consumption?

23. a) According to the 1st explanation of velocity given in the lecture, what should have been the effect of the rise in interest rates in the early 1980s on the velocity of money? Explain.

b) What was the actual effect of those very high interest rates on the velocity of money? Why did that happen?

24. Why does the velocity of money move pro-cyclically?
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